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QUESTION NO: 1

An administrator manages a cluster containing Production and Test VMs. Production VMs run on a VSS port group and a
storage array separate from the Test

VMs. The administrator wants to prevent large (>500GB) file transfers in Test from impacting Production. Which two
configuration changes should the administrator make to achieve this? (Choose two.)

A. Migrate the VSS port groups to VDS port groups.
B. Install a second virtual NIC in the Production VMs.
C. Move the Production VMs to a resource pool with a memory reservation.

D. Enable the Test VMs to a dedicated folder with CPU shares set to low.

ANSWER: AB

QUESTION NO: 2

A VSS is configured with two uplinks and assigned a load balancing policy route based on a virtual port ID. What are two
potential disadvantages of this configuration? (Choose two.)

A. A VM with a single MAC address is limited to the speed of the uplink associated with the relevant port ID.
B. Higher resource consumption compared to other load balancing algorithms will occur.

C. The virtual switch is unaware of uplink load and uplinks might become overloaded.

D. The NIC with less load is more likely to be chosen if port IDs match.

E. ESXi will use NIOC to attempt to mitigate network congestion when an uplink becomes saturated.

ANSWER: AC

QUESTION NO: 3

What is required to convert a VM to a template?
A. Power off the virtual machine.

B. Choose a thin-provisioned format.

C. Reregister the template.
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D. Select a storage policy.

ANSWER: A

QUESTION NO: 4

In a single cluster VM encryption scenario, which two VMs should be excluded from encryption? (Choose two.)
A. Platform Services Controller

B. vSphere Replication Appliance

C. vRealize Operations Manager

D. VMware vCenter Server

E. vRealize Log Insight

ANSWER: B D

QUESTION NO: 5

Per a customer request, a vSphere administrator increases the number of vCPUs in several VMs within a cluster. After the
vCPU increase, the upgraded VMs exhibit slower performance. The vSphere administrator uses esxtop to check ESXi host
performance.

Which two counters should be checked to detect CPU overcommitment? (Choose two.)
A. %SWPWT
. %USED

B

C. %MLMTD
D. %SYS

E

. %RDY

ANSWER: B E

QUESTION NO: 6
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Which permission should be granted to a user with Administrator permission and with no access to the encrypted VM
console?

A. New role with no Cryptographic Operations
B. Administrator role and Read Only Role
C. Administrator role

D. No Cryptography Administrator role

ANSWER: D

QUESTION NO: 7

A vSphere administrator has a requirement to add the identity source with the Integrated
Windows Authentication option on vCenter Server with External Platform Services
Controller. Which two conditions should be met to complete the task? (Choose two.)

A. Platform Services Controller must be able to reach the AD domain.

B. vCenter Server should be joined to AD Domain.

C. External Platform Services Controller should be an appliance.

D. External Platform Services Controller should be joined to AD Domain.

E. vCenter Server must be in Enhanced Linked Mode configuration.

ANSWER: BD

QUESTION NO: 8

An application requires a high network transmission rate and multiple simultaneous TCP streams. What is the maximum
number of threads that can be created per vNIC?

A.4
B.6
C.8
D. 10
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ANSWER: D

QUESTION NO: 9

Which native feature could be used to protect virtual machine files and disks containing confidential customer data?
A. VMware Tools B. vCenter HA

B. VM encryption

C.VDP

ANSWER: B

QUESTION NO: 10

Which action should be taken to ensure vSphere Update Manager (VUM) is available?
A. Download VUM from myVMware.

B. Consider Windows based vCenter for compatibility.

C. Enable VUM in the vSphere Client.

D. Install VCSA.

ANSWER: C
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